If Exercises (programming)
1. Booklet p. 64. Exercise #1.
2. Booklet p. 68. Exercise #11.  Ake sure your program check for negative discriminant and display separate messages for cases where there are no roots, or there is only one root.
For example.

Enter value for a: 2

Enter value for b: 2

Enter value for c: 5
Equations 2x^2 + 2x + 5 = 0 has no roots. Discriminant is -36.
Enter value for a: 9
Enter value for b: -12
Enter value for c: 4

Equations 9x^2 -12x + 4 = 0 has only one root 0.666666667
Enter value for a: 1
Enter value for b: 1
Enter value for c: -20

Equations 1x^2 -1x - 20 = 0 has two roots  -5 and 4
Bonus: use if statements to display x^2 - x - 20 = 0.
3. Create a slot machine game application that acts as a simple slot machine. The computer “spins” 3 wheels, each consisting of the numbers 1,2 or 3. If all three numbers are 1, the user gets 4 tokens; if all are 2, the user gets 8 tokens; if all are 3, the user gets 12 tokens. If only 2 numbers are the same, the user gets 1 token. Display the results of “spin” and the number of tokens that user got. 

Example 1
You got 3 1 3

You won 1 token

Example 2

You got 2 2 2

You won 8 tokens

